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(b) Full-bodied Money
(¢) Metallic Money
(d) None of the above

90. The primary source of money
supply in all countries is:

(@) The Reserve Bank of India
(b) The Central bank of the country
(¢) The Bank of England
(d) The Federal Reserve
91. The supply of money in an
economy depends on.
(@) The decision of the central bank
based on the authority conferred
. on it
- (b) The decision of the central bank
- and the supply responses of the
commercial banking system
The decision of the central bank
_ ....__..Fg of high powered money

MONEY MARKET o
8.12 ged Lo IssSue currene :__ 4ific -
v - of (a) T._:_:.e_c.._—__._. by keeping .-:muF.% [T :L M bt a
" fanc n any exle : é k.ﬁﬂ : !
provide a deeper ::a_e_.._p..:ee_—-. ,___._..:_ reserve of gold and r_.._,nw”: @ b a0
the causes ol tipREy . securit ies {) 1:—.— «
e) Money m:_:,_,. ) _‘,.:;::E.__r.._ 1o issue r.:z.as_nw ¢ i#—h—u._-
(b) Money Demand holds (o any extent by keeping only o %.:E:nm

) Money supplied by L i certain minimum reserve of gojy of 2?:_.:

¥ : anded bY Govern and foreign securities @ ,
(d) Money dema . ) sped to issue curre —q.o:,ur;
i o the (6] PO e e ® it

he .w:_-_.._% of mon¢€y .: ol ﬁ_.:_::__::.._: the :r.,..c_zn.r. mon. :.u Dig
A .._o._:.:n_mc:::,;_...n_...r: ey by keeping only a minimy, All of
economy ks reserve of gold and foreign g (d) ui
[l rom R curities . W
(b) Central Ban " ) _._.__.._:.i_.._..,i 10 issue currency —un—.—n—Q—Qu
(¢) Ministry of Fimnantt any extent by keeping areserve of ﬁnn—.-u-.ﬁﬁa
) Central Government gold and foreign securities 1o the for the i
89. Paper currency is a: extent of T 350 crores Eoﬂnw_—. p
(a) Representative Money 93. The Money is a liability of the form

~and an asset of the @) Cen

.

(¢) Issuing central bank, holding
public

(b) Pubic, central bank

(¢) Issuing central bank, central gov-

ernment

Central government, issuing cen-

tral bank

94. The currency issued by the Cen-

tral Bank is “FIAT MONEY” and is

backed by supporting 4

and its value is guaranteed by the

(d)

(a) Currency, central Bank
(b) Currency, government

(c) Reserves, government
(d) Reserves, central bank

95. Banks create money supply
process of borrowing and les
transactions with the public.



) Credit Mnnv_\.

(¢ -

h) j\l'[”lk‘l.’ll M‘”lk“\'
\

) Debit Money

It

/) None ol these
[ d

o, Which of the following

of money:

letallic Currency
g L(.'J M .
Y hy Paper Currency
n_on “1] Id[‘\,. ot CHC
Wy, (¢c) Digital Currency
| Se. ) All of the above
¢7. With the advent of cutting edge
Yto echnologies and advancement in
of technology has made it possible
the for the development of new form of
money viz. CBDC. What is the fulj
the form of CBDC?
he (@) Central Bank Digital Certificate
(b) Central Bank Dynamic Certificate
ng

(c) Central Bank Digital Currency
(d) Central Bank Dynamic Currency
98.At present, which of the following

Statement is true about the crypto
currencies?

(a) These face Significant Legisla-
tive Uncertainties

(b) These are not legally recognised
in India as currency

() These are not categorized as
money

(d) All of the above

99. Banks in the country are required
to maintain deposits with the central

bank .

(a) Toprovidethenecessary reserves
for the functioning of the central
bank

meet the demand for money
(b) g; the banking system

sand
"l‘llk‘ulh imns

(el)

o mee Lthe Mone,
day 1o day worki
meraal banks
100, “Mlll‘lt‘\_'”
and

ered Money”
and

needs lor the

ng of the com

Consists of cur

7 rency
. Wh!lc

High pow.
- Consists of currency

(a) Demand de
with banks

Posits =-."-t| réserve

(b) Cash reserves with Banke

mand Depaosits
(¢) Public money paper monesy

(d) Paper money, public money

Measurement of Money Supply
101. Till 1967-68, the RBI used to
publish  measure of money
supply.

(a) M,

(b) M, and M,

(c) M,, M, and M,

(d) M, M,, M, and M,
102. In India, who releases data on
money supply?

(a) RBI

(b) Central Government

(¢) Ministry of Finance
(d) Commercial Banks
103. M, and M, are g

as ___
whereas, M, and

-l

(b) Broad Money,



8.14

(¢) Least Liquid Money, Narrow
Money

(d) Broad Money, Most liquid money
104. The four measures of money
supply represent different de-
grees of liquidity. In this regard,

is the most liquid and
is least liquid.
(@) M,, M,
(b) M, M,
(c) M,, M,
(d) M,, M,
i05. Reserve money is also known as.
(a) Central bank money
(6) Base money
(c) High powercd money
(d) All of the above
106. Reserve Moniey is composed of:
(a) Currencyin circulation + demand
deposits of banks (Current and

Saving accounts) + Other deposits
with the RRT

(b) Currencyincirculation + Bankers’
deposits with the RBI + Other
deposits with the RBI

(¢) Currencyincirculation + demand
deposits of banks + Other depos-
its with the RBI

(d) Currencyincirculation + demand
and time deposits of banks «+
Other deposits with the RBI

107. M, is the sum of

(@) Currencyand coins with the peo-
ple + demand deposits of banks
(Current and Saving-accounts) +
other deposits of the RBI

- (B) Currency and coins with the peo-

ple + demand and time deposits
of banks (Current and Saving

MONEY MARKET

accounts)
RBI.

(c) currencyincirculation ..
deposits with the RBy
deposits with the RB]

(d) none of the above

108. The empirical definit; on
measure M3 iS5 :

(@ M;=M, + M,

+ other clepc,s'it_,S of
2

Banj,
ry
+ Other

of

.

- (b) M, = M, + Saving deposits With
post office saving banks
(¢) M, =M, + Time deposits With the
banking system :
4 ‘ .
(d) M, = M, + Saving deposit with | [cash OB 2
post office saving banks pat is thu
Consider the following datg and ' ‘:ub]ic?
answer the following questiopg 726,09,
109-111. (@)

Currency with Public . 45,000
Crores
Demand Deposit with < 1,00,000
Banking System crores
Time Deposits with Bank- X 1,10,000
ing System crores|
Other deposit with RBI % 1,40,000
: crores
Saving Deposits of Post % 30,000
Office Saving Banks crores

109. What is the amount of Narrow
Money (M,)? B

(a) 2,85,000 crores
(b) R 3,15,000 crores
(c) T 3,95,600 crores
(d) None of the above :
110. The calculated value of M,

.

(a) 2,85,000 crores
(b) % 3,95,000 crores

4



i) T 3, 15,000 crores
£

) None ol the aboye

11 The value of M. will be
() ¢ 2,85,000 crores
i) 2 3,95,000 crores
) T 3,15,000 crores

() None ol the above

112, Consider the i‘ullnwing data

7 crore)?
—— : e
-:_.'!(Jl_‘fs = '_‘T'__”_’_ﬂc..l.flm'_m? ot 1| 26_’0_9L{mqj
greaation ofRapee Coin | 40715 |
',i-_:rculatiun of Small Coins i i_(J_BH
sy R e —— -  F £

Ld;hil!l ii2nd and Bank |_ 99,200 i
'..'._’-l_iat is the currency W_i_t}i_“t;:‘
Public?

(a) T 26,09,005 crores

() T 26,49,720 crores

(c) T 26,50,800 crores

(d) ¥ 25,51,600 crores

113. Consider the following data:
M, Z42,90,550 crores

M, ¥ 44,42,695 crores

Calculate the value of Post Office
Saving Bank Deposits.

(a) ¥ 87,33,245

(b

) ¥1,52,145

(c) T 3,04,290

(d) None of these

Read the following data and answer

the

questions 114 to 116.

ply:

Mr. X has calculated following four
alternative measures of money sup-

7 4,85,000 crores
7 5’50,000 Crores

M INEy MARK i I

i“ l
|. " | % i,‘Jﬂ,lltl!l Urire
SN

LM, [?6,24,009
114, Wh
Deposi

Uiy
at is the -
Sl -ll'nuunl )
-

- With the Iiunkin . :l-
{a) 2 74,000 Cropes et

b) ¥ 65,000

T

lem™s

TOres

(c) T A5 06 Cror

# o
- e P

(el) S %,'.J[_!{'I Crores

115. What is the

deposits with

Bank”?

amount of “§, i
O "Saving
Post Office Sm'iu:

(@) T 74,00¢

(h) 2 65,000 Crores

) Crores

(€) T 1,05,000 Crores

(Y T 34,000 Croies
‘]}ll:fé.. The T(:)tfdl Deposits with the Pogt
C ice S-a\*mg Organisation (exelud.
ing National Savings certificates) is

(@) ¥ 74,000 crores
(b) T 65,000 crores
() T 1,05,000 crores
(d) ¥ 34,000 crores

117. Find M,, from the following
information:

M T 4,41,260

4 o,
Saving;i;])usils withPost| T4l .Zﬂo.
Office Saving Banks ﬂ?- j
Total Deposits with the| £ Slnm

Post Office Saving Or in
ganisation (excludin}g Na- : ;
tional Savings Certificate) |

Time Deposits with

| Benking S51C
(a) % 4.10,015cr.

(b) T 3,44,700 cr.




MONEY M

8.16

() X 3,85,900 cr.

(d) Cannol be dcturmincd

118.0Onthe recommendaliuns ofll::e
Second working Group on money

: as
supply, from April the l]lBIhl g
been publishing data on wlll‘- o
1he following alternative measur

of raoney sunply?

¥

(@) M, only

(b) M, and M,

() M,, M, and M,

(d) M, M,, M, and M,
Read the following data, and answe
the questions (119 to 121)

ot [Cmerore]
]T\"o_t-es in Cit‘t:ﬁl_;iait_:‘._—_l _Zf._zi}f_éfj
CirulationofRupecCoin | 25572 |
| Circulation OFSmaECoins | ":'43_':
l_l’ost {)_m_ce Saving Bank | 141,786 '|
ol T
| CashonHandwithBanks| 97,593
| Deposit Money of the | 17,76,199 |
Public = | |
| Demand Deposits with | 17,37,692 ||
'FBanks .
| Other Deposits with RBI 38,507 ||
| Total Post Office Deposits | 14,896 |
! Time Deposits with Banks | 1,78.694J|

119. Calculate M,
(a) T 43,04,609
(b) ¥ 41,25,915
(c) T 42,07,046
(d) X 42,67,701

120. Caicuiate M,
(a) T 43,04,609
(b} ¥ 41,25,915
(c) ¥ 42,07,046
(d) % 42,67,701

ARKET mone
The oly
121. Calculate M, 1;5’;87 supP
@) T 43,04,609 @? Pusiti"’c_h:_
() T 41,2591 (8 peser™~ e
() T 42,07,046 (b} Negﬂrt{‘;f,
() % 42,67,701 e
Not rel
T (C) d,tio?'
Money Multi lier Approach ! .
Mo propor®
122.The Money MUlthherAppmach () yes ratl
holds that total Supply of noming I cm
maoney in the economy is determip o 126- The
by the ___—— behaviourGtie il (o) The bet
__._'___'_'__,_. the ‘iﬁst
(a) Single; Central Bank ®) The be
(b) Joint; Central Bank and Cop,. resp601
mercial Bank ©) The be
() Joint; Central Bank and Public ) The k
(@) Toint; Central Bank, Commercial banks
Banks and the Public 127.Thesi
123. The ratio that relates the is determ
cl.aange in the. money supply to a (a) Thec
given change in the monetary base
is called the: (b) T}};e |
g e
(a) Required reserve ratio thes
(b) Money multiplier ) z::n
(¢) Deposi i
¢) Deposit ratio ) All ¢

(d) Discount rate
124. The money multiplier will be
large:

(a) For higher currency ratio ©
lower required reserve ratio (f‘}
and lower excess reserve ratio €

(&) For constant currency ratio )
higher required reserve ratio
and lower excess reserve rat

(¢) Forlower currency ratio
er required reserve rat
IOWET eXCess reser

(d) NOne of ﬂ.'le ab



MONEY MA

Ak The
125. The money multiplier and t}
money supply are: d the

(1) Positive
(a) Positively related 1o the exc
i CCSNS

reserves ratw?

Negatively related
ty related to the excess

APPI' reserves ratio?

: Oi!ch } Not related to the e

pli . O LIE EXCESS 1reserves
l erA p I'c !\‘I l
MY of oy MUl ;) Proportional to the ¢

fisciete - i Ly LNC EXCOSS rese-

9 T T » - S -
120. The currency ratio represents:

la‘riuurrm‘h@d
of the

¢ behaviour ol central bank in

lllk S51 1rre
. ITTCIICY

n = A 1 s he 1 1

k and COm‘ . ‘." clavie . Ol Tk"-'ltl\ll bank in

i \ eserve ratio

k . 3 V10U Ol the public

and Public pubii
S \¢ L FIC chaviout o m.«!l_ll.l'._"yl;!.l.
’.Conlmel“:ial b |:I!‘-. nth WINTY |
’llc Licihd i VLI L UJLRiiL

127. The size of the money multiplier
lates the is determined by:

¢)of the public

Wﬂy to a

y Thecu ency ratio

Al 1<
(b) The required reserve ratl
|

o (r) at
the central bank, anc
{e) The excess reserve ratio (e) of
b commercial banks
id) All of the above
1128. The required re
" 10% for every Z 2,00,
_in the banking system.
"be the Credit Multiplier
- Creation?

 (a) 10,X 20,00,000

B (b) 10, 20,000

{c) 8,F 20,00,000

and Credi

£2 5,00,00

Ll
jed ratio)?

served ratio is
000 deposited
What will

B initial depositof 15000 132 1 M is (he
, credit creation 15 €2 e atfxir: g s the money multiplier and MB
,000. What 18 RRR (req the monetary base or high-powe

RKET

5

{a) 8
(bh) .08
(c) 12.5%

() Cannot be calculated
130. When there are excess reserves,
the money multiplier (m) is ex-

pressed as

131. Which formula is used to find

out Money Supply (m) where:
r = required reserve ratio

— currency - deposit ratio (CMD)

e = ratio of Excess Reserves to De-

c

posits
H = Stock of high powered money

1+
[H) 3:"1 = + }i
1'+Qﬁ- (&
14 €
i E)]‘ 1\1 o — X 1_{
r+e+cC
1+H
({‘) M = X C
Y+ e+cC

0, money supply
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wing The value of money m‘dﬁ""““;vm i
money, then which of the follo . . e ;,;tl "ﬁ‘:;; ‘
equation is correct? (a) 1.74 dePeﬂ o

(@) MB =M xm (b) 2.74 (@ "];XCG
(b) m=MBx M (C) 1.79 (b) "
M= MB +m . the '
l(:; For a given level of ﬂ": ::tz;.fﬂz of each :ie‘;r:;et ' @ site
monetary base, an incm-asewilll pank loan out ‘“‘d e 41. EX¢
the required reserve ratio the money multiplier. :
Cenees igher, less, smaller - terest’
- ly (a) Higher less, e
e | (b) Higher, high element, smalley @) Posi
() An increase in the money supply ;
] (c) Smaller, less, smaller ) Neg
(c) An increase in demand deposits _ -
(d) Nothi g recise can be said (d) None of these (¢c) Uni
othing p -
; ot
134. For a given level of the 138. Uflder the fractional resery, @ N |
monetary base, an increase in system: - Re 142. As |
the currency ratio causes the (@) Themoneysupplylsanmcreasjng etaryba
money multiplier to and function of reserve money (or pot mu
the money supply to high powelrf..ed1 .mone_y) and the in mon!
(@) Decrease; increase money multiplier s
(b) Increase; decrease (b) Themoneysupplyisandecreas@g @)
(c) Decrease: decrease function of reserve money (orhigh
' powered money) and the money
(d) Increase; increase multiplier
135, tells us how much

new money will be created by the
banking system for a given increase
in the high-powered money.

(@) The currency ratio

(b) The excess reserve ratio (e)
(¢) The credit multiplier

(d) The currency ratio (c)

136. Consider the following data;
Required Reserve Ratio 10 Per ceny
Currency in circulation | 2 400 Billioy,
Demand Deposits T 1000 Bil.
lion
Exeess Reserves T 1 Billj
—- o

(c)- The moneysupplyisan mcreasmg\
function of reserve money (or high
powered money) and adecre

~ function of money multiplie
(d) None of the above as the de
inants of money su
different | o .

139. 1f commercial bz
their holdings of excess I
(@) The Monetary b
() The Monetary

(d) The mq :

‘3 Y. K 4
v
I
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140. The MIDrley Multiplier jg a (@) Term Deposits, Cash
function of the current ratjq which S e o
depends on the : (b) Cash, Term Depositg
x v Yermar ; ) Va il
(a) . Behaviour of the public (¢) Demand deposits, ash
: 1) Cash, deme TR
th (b) Excess reserve ratio of the banks (d) Cash, demand deposits
e 3 :
Ofe lﬁse' (c) Required reserve ratio sl |,‘\- the L
:lt] e = achd%l:; Central Bank Ihgmor;ey TU“lPIIer Approach
: 0 Su 0
ﬂplier (d) All of the above 2 SUpply Mone){_
=ss. Sma}jer l41. EXCBSS reserves l'ﬂ'lil) (k‘) i.‘i ]45. l"l(‘ M‘?“l‘y"’]ult i])lid.‘l"-’l])pl'"“ﬂ.‘h
1 ele related to the market :" money supply was propoundecd
. e == . . ) N
' i smaH interest ratio (). y — .
Naj] iy G : (@) Milton Friedman
e T (a) Positively .
; (b) Milton Friedman and Anna
(b) Negatively

Schwarty

: r&cen‘ (c) Uniformily (¢) Milton Friedman and Irvin fisher
(d) Not _ (d) Milton Friedman and Marshall
i as a rule, an increase in Toone 146. The money multiplier approach
etary base that goesinto __1is

e whereas i in_crease to money .Supply considers three

not multip [; sed that goes into [2ctors as immediate determinants

in aonetary d“;tipli:d Boe of money supply. Which one of the
is mu 2d.

following is not included in these
factors?

‘. (a) Supporting deposits, currency
\ () Currency, Supporting deposits (@) Slnckol”high-powerf_:dmoncy(l'i)

(b) The ratio of reserves to depuaits
4 (d) Currency, High Powered Curr or reserve-ratio (r)
y ency

" (¢) HighPowered Currency, currency

(¢) The 1‘atioofcurrenqy to deposi
 143.1f some portion of the increase or currency-deposit rati
| inhigh-powered moncy findsits way (d) The ratioof high-poy
f&tg , this portion does to deposits ()
! 10t undergo multiple deposit T 1 )

when funds are
__ rather than as
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(@) Sllpply of the Nominal High-
owered money

(b) Totalamﬂumofnominaldemand
deposits

(€) Degree of adoption of banking
habits by the people

(d) All of the above

149. If the behaviour of the Public
and the Commercial banks remain
unchanged over time, the total sup-
Plyofnominal money in the economy
will vary with the supply of
nominal high-powered moneyissued
- by the :
(a) Directly, Central Bank
(b) Negatively, Central Bank
(¢) Directly, Central Government
(d) Negatively, Central Government
150. The Money Multiplier and the
money supply are related
to the ratio of currency to deposits
(c) i.e. C/D.
(a) Negatively
(b) Positively
(¢) Not
(d) Progressively
151. The behaviour of Commercial
Banks is important under money
- multiplier approach to supply of
money. By creating credit, the com.
mercial banks determine the tota]
amount of ;
() Nominal High-Powered Money
(b) Nominal Demand Deposits
(c) National High-Powereq Money

(d) National Demand Deposits

MONEY MARKET

-.__I 901
follo ™. ()

2. Which of the following refie,, y
tllfe behaviour of Wmmemim T) f:; »
e seonomy g | 1
multiplier approach 1o supply .o 3 6-“ .
money? g

(a) Ratioof cash reserves to deposi.& R Baﬁl:he
(b) Ratio of currency to dePOSit.g | “ﬂpp Iy.
(¢) Ratio of cash reserves toc“mncy 1 s{a) i
(d) Ratio of High-powered Money, s e
currency : ( |
153. Considering all other variabjeg (c)
remain the same, If ratio of cash pq, ) |
serves to deposits (reserve ratio) iy, 157. Tl
creases, then wﬂldecrease' R e ba
(a) Deposits ‘ will cr
(b) Money Supply noney
(¢) Reserves f hol
(d) High-powered money that __
154. When reserve ratio (r) is 8%, (@) B
the money multiplieris calculated at b) P

2.58.If thereserve ratio is increased ]

to 12%, the value of money multipliei-
will be < eyl
(a) Less than 2.58 ) E
(b) More than 2.58
(c) 2.58 Saﬁ:t];
(d) Cannot be decided it dog
the sy

MQ“EtaW Policy and Effec
povernment Expenditure
oney Supp] By

155. The valye
18 Zerg When:

(a) Interest rates are
(b) Banks Drefe_.r :
Mjected re
With no 1

of money



(¢) Both (@) and (b)
(d) Money Multiplier can never be
7ero

156. As a part of monetary policy, an
open market purchase by Central

‘Bank will  the reserves
and thereby _____ the money
supply.

(@) Reduce, reduce
(b) Increase, increase
(¢) Reduce, increase
(d) Increase, reduce

157. The credit creation process by
the banking system in the country

will create money to the tune of A
money supply = —]12— x A Reserves.

It holds true, when it assumed
that =

(@) Banksdonotholdexcessreserves
b _f People donot hold more currency
- than before

ere is demand for loans from
sinesses.

of the above

stimulate economic activity
D€S so by infusing liquidity into
tem. The high powered money
base) is injected into the

jovernment securities are pur-

hased

rmment Securities are sold

(a) and (b) v

1ever the Central and the
ernment’s cash balances

he Central Bank of a country -

MONEY MARKET

fall short of the minimum require-
ment, they are eligible to avail of

a facility. What is the name of that
facility?

(a) Ways & Means Advances (WMA)
(b) Overdraft facility (OD)

(¢) Both (a) & (b)

(d) None of the above

160. When the Reserve Bank of In-
dia lends to the governments under
WMA/OD, it can potentially lead

to an in money sup-
ply through the money multiplier
process.

(a) Increase
(b) Decrease

(c)

(d) No effect
161. Identify the Correct Stat
(a) Thcrcisnodiffel;'am%é

(b)
(c)

(d)

162. If required f o
then what will b

(a) 0.2
(b) 0.8
753 10 1
(@

8.21

Substantial Decrease

type of money creat
mercial bank and
issued by the C
Money creation i
wealth creati

The deposi
money multip
In actual prag
spend every!
rowed

5
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crores and requir ed reserve aty,

153-u\{\’hnt is the formula used to
ate credit Multiplier?

(@) 100 - Required Reserve Ratio
(b) 100 + Required Reserve Ratio
(©) 100 x Required Reserve Ratio

) Required Reserve Ratio

164. The credit multiplier is also
referred to as the
(@) Deposit multiplier

(b) Deposit expansion multiplier
(¢) Both (a) & (b)

(d) None of the above

165. Which describes the amount of
additional money created by com-
mercial bank through the process of
lending the available money it hasin
excess of the Central Banks reserve
requirement?

(a) Credit multiplier
(b) Deposit multiplier
(c¢) Deposit Expansion
(d) All of the above

166. What will be the total deposit
created if initial deposit is of T 800

R

The Monetary Policy Frame-

- work

169. Monetary Policy refers to the

use of monetary policy instruments
which are at the disposal of the Cep.
tralBank |

(a) To regulate the availability, cost
and use of money and credit

(b) To achieve price stability -

(¢) To promote economic growth/
optimum levels of output ang

is 10%?
(a) T 80 crores
(h) T 800 crores
() T 8000 crores 'I

-

(d) None of these : |
' dits |
167. The total deposits createq j,
the commercial banks is 2 16;3:;,0
crores and the required reserve ray;,
is 12.5%. Calculate the amoy o]

initial deposits.
(a) Z 16,800

(h) 2,100,

(c) Z 18,900

() None of these

168. Initial Deposit of ¥ 1,521 crores
lead to creation of total deposits of
7 12,168 crores by the commercial
banks. What is required reserve
ratio?

(a) 15%

(b) 12.5%

(c) 10%

(d) 7.5%

employment, ba];«mcé of p
equilibrium, etc.

(d) All of the above
170. Which of the follov
ction of monetary poli
(a). Regulate the ey ch
keep it stable
(b) Regulate the mo

totheCO DOT T

(C) Reg'lﬂate he leve
and prices -

172-
(a)
(b)

(c)



21 Cmres
posits of
1amercial

reserve

1R,;_qL:Iatt‘ the availability, cost

(d | use of money and credit

. and

which of the following is a ba-
I,T .com ponent of monetary policy
_.;lc 'ework?

The objectives of monetary

(@)

policy
) The analytics of monetary po].icy
which focus on the transmission
mechanism
o) The operating procedure which
focuson the operating targets and
instruments
@ All of the above are basic compo-
nents
72. The main objective of monetary
policy in India is :

(a) Reduce food shortages toachieve
stability

() Economic growth with price sta-
bility

(¢) Overall monetary stability in the
banking system

(d) Reduction of poverty and unem-
ployment

173. When the Central Bank lowers
interest rates, monetary policy is

(¢) Easing
(b) Tightening
(c) Ineffective
(d) None of the above

174, Fundamentally, the primary

Objective of the monetary policy

been:

@) To reduce price stability
(5

(c)

To curb economic growth

To maintain judicious balance
between price stability and
€Conomic growth

MONEY MARKET
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(d) None of the above

17_5 . Whi.ch of the following is an ex-
plicit objective included in the mon-
etary policy of developing countries?

(@) Maintenance of economic
growth

(b) Ensuring an adequate flow of
credit to the productive sectors

(¢) Sustaining a moderate structure
of interest rates to encourage
investments, and creation of an
efficient market for government
securities

(d) All of the above

176. The monetary transmission
mechanism refers to:

(a) How money gets circulated in
different sectors of the economy
post monetary policy

(b) The ratio of nominal interest and
real interest rates consequent on
a monetary policy

(c) The process or channels through
which the evolution of monetary
aggregates affects the level of
product and prices

(d) None of the above

177. A contractionary monetary
policy-induced increase in interest
rates.

(a) Increases the cost of capi:sa] aud_.
the real cost of borrowing for--l

firms
(b) Increases the cost of capi:@ :
the real cost of borrowing 10
firms and households
(c) Decreases the cost of «
the real cost of bc
firms

(d) Has no

MEN |
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178, During deflation:

(@) ThERBITBdUCeslheCRRinurch‘
to enable the banks to cxpaﬂd_
credit and increase the supply ol
money available in the economy

(b) The RBI increases the CRR in or-
der to enable the banks to expand
credit and increase the supply of
money available in the economy

(¢) TheRBIreducesthe CRR inorder
to enable the banks to contract
credit and increase the supply of
money available in the economy

(d) The RBI reduces the CRR but
increase SLR in order to enable
the banks to contract credit and
increase the supply of money
available in the economy

179. The analytics of monetary policy
focus on the transmission mecha-
nisms. Which of the following is
included in such mechanism?

(@) The interest rate channel

(b) The exchange rate channel

(¢) The quantum channel and the
asset price channel

(d) All of the above

180. Which of the following state-
ment is correct?

(@) The governor of the RBI in con.
sultation with the Ministry of
Finance decides the policy rate
and implements the same

(b) While CRR has to be maintained
by banks as cash with the RBI, the
SLR requires holding of apprc;ved
assets by the bank iself s

() When repo rates j :
means that banks (:aI;C;Z?el; lt
row money through Open Marlg -
Operations (OMO) i

(d) None of the aboye

181. which of the following

incorrect?

ments is g I P !

(a) Quanlilauve instruments oy | &)
; g(:ncl'al in nature ” ope
(h) Quantitative in.‘slll:-ngnu e 0 Op*
all the sectars making use of bapy e ool

credit
(¢) Quantitative cuntrols,are :
ned to regulate the direction of
credit
(d) Quantitative Controls are alg,
known as traditional methods of
control
182. As a part of credit control instry.
ments of RBI, which of the foll
is not a part of Quantitative method?

(a) Cash Reserve Ratio (CRR)
(b) Statutory Liquidity Ratio (SLR)
(¢) Open Market Operations (OMO)

(d) Margin requirements i
ments |

183. As a part of open market opera-
tions, sale of securities by the Central (a) Tk
Bank the money supply -
in the economy. N
(a) Decreases | (b) Tl
(b) Increases af
(¢) Brings no change in )

(d) Either (a) or (b)

184, refers to the mini-

Mum Pércentage of net demand a -
time liabilities, to be kept by %

mercial banks with the central b:
(a) Statutory Liquidjty Rano
(b) Cash Reserve Ratio : ;



These operations conducted by the
central bank are referred to as:

(a) Open Monetary Operations
(b) Open Money Operations
(¢) Open Market Operations
(d) Open Marginal Operations

186. The commercial banks are re-
quired to maintain with themselves,
a minimum percentage of Net De-
mand & Time liabilities, in the forfn
of designated liquid assets. This ratio

is called as:
| (a) Statutory Liquidity Ratio
(b) Cash Reserve Ratio
(¢) Bank Rate
(d) Repo Rate

187. Which one of the following
statementis incorrect about Qualita-
. tive method of credit control instru-
' :-_ ments of RBI?

& (g) These include margin require-
ments, moral suasion, selective
* credit controls, etc.

B) These are general in nature and
" affect all the sectors

Theseare designed to regulate the
girection of credit

€ are also known as selective
ods of control

one of the following is
of Qualitative method of
trol instruments of RBI?

Market Operations
requirements
Suasion

€ credit contro]

is the interest rate

lends long-term funds

MONEY MARKET
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(a) Interest Rate I
(b) Bank Rate

(c) Repo Rate

(d) Marginal Rate

190. RBI provides financial accom-

modation to the commercial banks
through repos/reverse repos under:

AT e i

(@) Market Stabilisation Scheme ,
(MSS) i§
(b) The Marginal Standing Facility !
(MSF) l‘
(¢) Liquidity Adjustment Facility }l
(LAF) 4
(d) Statutory Liquidity Ratio (SLR)

191. In India, the term ‘Policy rate’
refers to:

(a) The bank rate prescribed by
RBI in its half yearly mone
policy statement

(b) The CRR and SLR presc
RBI in its monetary poli
ment

(¢) Thefixedreporate quoted
ereign securities in the o
segment of Liquidity A
Facility (LAF)

(d) Thefixedreporate quoter
ereign securities in the ¢
segment of Marginal
Facility (MSF)

192, is a mo
instrument, which enab
eralised short-term borro
lending through sale/p
erations in debt inst
(@) OMO
(b) CRR
(¢) SLR

(d) Repo
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mbEI'S
| p) Four M€
193, Reverse repo operation takes ( Five m€
Place when: ) mbers
(d) Sixme™

~ (@) RBI borrows money from banks

the
by siving them securitics 197. Under e orrows from the
(b) Banks borrow money from RBI menilforrowing being additim!ﬂlto
by giving them securities Igtsst;::ormﬂlborr()wing requiremenﬁ)

(c) Banks borrow money in the and issues treasury bills/dated .

; ‘he money s
:grl‘”l?;%ht e He curities.

(d) RBI b ey from the (@ Market Stabilisation Scheme
OITows Imorn

(MSS)

central government e
194. The M Policy Frame- (b) Minimum Statutory Scheme

. € Monetary y ( )

work Agreement is on :

(a) The maximum repo rate that RBI (c) Marginal Standing Facth(MSF)

can charge from government (d) Minimum Statutory Facility
() The maximum tolerable inflation (MSF) . _ -
rate that RBI should target to 198, is defined as ap
achieve price stability instrument for lending funds by

(¢) Themaximum reporatethatRBI purchasingsecurities w1th anagree.
can charge from the commercial ment to resell the securities on a
banks mutually agreed future date at an

(d) The maximum reverse repo rate agreed price which includes interest
that RBI can charge from the for the funds lent.

commercial banks (a) Reverse Repo

195. An open market operationisan  (p) Repo Rate

instrument of monetarypolicywhich  ,_

involves buying or selling of (¢) Bank Rate

from or to the public and banks, (d) MSF _

(a) Bonds and bills of exchange 199. The Monetary Policy F‘..
(b) Debentures and shares work Agreement is an agreer
(¢) Government securitieg ;g:(;hedbetweenthe Governm:
(d) None of these (RBIR)E::nd the Reserve Bank

© keep the Consumer

196. Monetary Polic c 3 Index 3
(MPC) determines th, Yy Committee (CrP1

S
achieve the inflatipy ta];ghcy rateto ————— 8

jority vote b
of experts. Howmany Y a pane] ®) 2¢
this MPC consists gf}; cmbers does e t° 6 per cent
(@) Three members © S pe



HONEY MAR 8.27
Answers LN
"1 @] 2 @] 3 6. || 5 lw] s [ 7. Tw
5. @] 9 @] 10.] 1. | (a) | 12 15. [ @) | 15, [ o) |
15. [ ] 16 | @] 17. [ @) | 18, | =) | 18, 20 21. | &
22. | )] 23. | )] 24 25. 26, 27. | @y | 28 | @
29, k)| 30, 31 ‘ 32. 33 o 24, 33 A
26, 37. | b)) | 38. | (a) | 39 40 41 42.  (a)
43 || 4. [ ]| 45 [ @) | ae 47 48. | (z) | 49. | (@) |
50 | )] 51 | | 52. | @) | 53 54, 55. | &) | 36, | &)l
7. | (d) | 58. 59 60, 61 | 62. [ @) | 63, | &)
24 | ) | 65 66.  (d) 67, 6% 69. | 2) | 70. 1 )|
(=1, | a) | 72. 73. 74, 75. | @) | 76. | @ | 77. Lokl
78, | (&) | 79. 80 81 82. | (c) | 83. | @) | 8. L (B
g5 | )| s6. | 87 55 89. | a)| 90. | )| o1, | (&}
B | 5 | 93 94 95 9%. | )| 97. | c) | o8 )
99, | (c) 100 101 ) 102 I-;'JE ( _-__]U_"!_-_.’.- 105, | (d)
V106, | ) 107 | 108 109 10. [ (c) | 111. | (3) | 112, Ll
0113, | 5 | 114 115 116. 117. | ) [ 118, | @ | 118 ™
20, | () [121. | 2) | 122 | @] 123. 124. | () | 125. | (5) | 126, bkl
) [128. | (2) | 129, | 1) | 130 131. | &) | 132, 133. | ()
BN ) [ 135. | (o) | 136. | 2) | 137 [138.] @ [ 139. | ) | 1288 )
BG) | 142. | 1) | 143, | @) | 149, | G 145. | (5) | 146. | () | 14T, 06
BNG) | 149. [ @) [ 150. | (o) | 151. | 5) | 152, | @) T 153 T 62 154. | (@)
B 0) | 156. | o) [ 157. | @) | 158, | @) | 155. | @ | 1601 2 161. | (a)
1162, | (@) | 163 | @) | 164. [ (c) | 165. | @) | 16, 167.  (b) | 168 | (B)
BRI69. | (&) | 170. | (2) | 171. | (4) | 172, 173. | (@) | 174. | () | 17500
BRRC) | 177. [ ) [ 178. | @) [ 179. | @) | 180. | &) | 181, | &) | 1888 @ |
183. | (1) ,' IBD; 185. | (c) | 186. | (a) | 187. | (b) | 188. | (a) | 1888 (b)
BNE) [191. | (c) [ 192. | @) | 193. | (@) | 198, () | 195. | (c) | 196000
el (@) | 198. | 1) | 199. | (3) FE

-

of selected questions

functions of money are medium of exchange &
the secondary functions are standard of Deferred ;

-:};_t 1

—
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'__\1_—_ M - Saving deposit with Post Office Saving Banking
" 2 35.000 - 30,000 = T 3,135,000 crores
\ - M - Time Deposit with the Banking System

4 R3 000 + 1,10.000

113
\l = M, - Post Office Saving Bank Deposits
5 Post Office Saving Bank Deposit = M, - M,
~ 44 42 405 - 42 90 550
- ¥ 152,145 crores
114 to 116
{ Time Ds;‘\"sits with the Banking System :
; - M.- M, = 390,000 - 4,85,000 =X 1.05,000 WL
. : L

| Saving deposits with Post Office Saving Banks

P= M. - M, - 5.50,000 - 4,85,000 = Z 65,000

E Total Deposits with the Post Office Saving Organisation (excluding Nﬁﬁ

'Saving Certificate) ¥
=M, - M, = 6,24,000 - 5,90,000 = 34,000 i
i . =5
.__ w4 o[_

I M, = M -Total Deposits withthe Post Office Saving Organisation_:i"_w
B - 441,260-31,245=% 4,10,015cr. '
‘M, = M, - Time Deposits with the Banking System

. = 4,10,015- 65,315 = T 3,44,700 cr.

= M, + Saving deposits with Post Office Saving Bank
- = 3,44,700 + 41,200 =T 3,85,900 cr.

964 + 25,572 + 743 - 97,563 + 17,76,199 = T 41,25,915
5+ 1,41,786 = T 42,67,701
 + 1,78,694 = T 43,04,609

TIPS { g wet sl e e S



8.30 MONEY MARKET
128.

1

Credit Multiplier - Required Reserved
Ratio

e D
0.10 !

Required Reserve

Credit Creation Initial Deposits X

I

ratio
1

= ¥2,00,000 x

= ¥ 20,00,000
129,
Credit Creation = Initial Deposits x Credit Multiplier

. o), Credit Creation h 40,00,000 o
e - Initial Deposits ~5,00,000
Credit Multiplier = 1
RRR
1 : 1
i Credit Multiplier T g 0.125 or 12.5%

136.
Money Supply (M) = Currency + Deposits
=3400 +T 1000 = ¥ 1400 Billion

Currency-deposit ratio = Currency
Deposits
< 400
21,000 - 04
e~ EXCESSReserves 3y,
DGPOSiTS = m: 0001
Multiplier = —_1.1_‘:___ . 1+ 04 .
r+e+c mﬁm
1.5
0507 =279
Therefore

-

S T =
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est rate increases, the opportunity cost of holding excess reserves
568 and the desired ratio of excess reserves to deposits falls.

l' -8

{50. When bank deposits are being converted into currency, banks can create
nly less credit money. The overall level of multiple-expansion declines, and

O i T . e

(herefore, money multiplier also falls, Hence, money multiplier and the money
upply are negatively related to currency ratio (c).

supph _

153. If the required reserve ratio on demand deposits Increases while all the

other variables remain the same, more reserves would be needed. This implies

that banks must contract their loans, causing a decline in deposits and hence

he money supply.

(41. 1f inte!

int

y and m are ne rises, m falls and when 7 falls, m rises.
The reason 18 that less multiple deposit creation can O0CCUr when r rises, while
leposit creation can occur when r falls.

more multiple ¢

160, When lending is made under WMA/OD, it results in the generation of excess

reserves (i.e. excess balances of commercial banks with the Reserve Bank). The
potentially lead to an increase in money supply

gatively related. When r

excess reserves thus created can

ugh the moncey multiplier process.

1




the money supply in the economy.

.

. . ' ' T
8.32 © MONEY MARKE
i It : 16,800
ite i+ _ Total Deposits _ 19—
Initial Deposits = Mo{:] ey Multiplies 8
=% 2100 crores,
168.
Total Deposit _ _ M =8
__ Total Depostt

et i 21
Mor'xey Multiplier Initial Deposits 1.5

' 1
Money Multiplier = Required Reserve Ratio -

_ 1
Required Reserve Ratio = Money Multiplier

181. Option (c) is incorrect because Quantitative controls are desi:
regulate the total volume of credit whereas qualitative controls are desi
regulate the direction of credit. '

182. Margin requirements is one of the qualitative method adopted by
a part of credit control instrument. - |



